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> [require any missing data; then choose suitably.

SEC
brief, .~ TONA 7x7=14

Pts OfrﬁCOVerablc‘ cascade less and strict schedules.
d problem.

;. v Define the conce

\_:,/ gE;:me ]Elil'ty Rea
ehine Moss Concurrency py

d.»” Define the term Checkpo?nf':

e,/ What is bushy join tree?

f. What is tota] cost ¢

8-/ Explain derived ho

Otocol?

quation of query execution in distributed system?
lizontal fragmentation.

SECTION B

2. ‘:“;mpt any. three of the following: 7x3=21
: fxp'lam the ACID properties of transaction. »
. usnf)_z that three‘-phase commit (3PC) pratocol is a non-blocking protocol.
C-‘/ Explain the architecture of locking schedier.
- d. ?'Vhf’lt is deadlock detection? Also efﬁ?ﬁiﬁ the protocols for deadlock detection
in distributed database system., .,
e. Detcrm.mc the given schedule is conflict serializable or not. If yes, also
determine the equivalent serial schedule. S: r1(X); r3(X); wi(X): r2(X); w3(XY,
./ SECTION ¢
. 37 Aftemppt any one part oif..-tli'e;’folloWing: 7x1=7
What are serial and ‘serializable schedule? Why are serial and serializable
schedule considered correct? »
}bj/ Define schedule and serializable schedule. Check whether the folliowing
schedule is conflict serializable or not: r3(x); 12(x); 1(X); w3(x); wi(x);
4. Attempt any one part of the following: d 7x1="7

(a} How does Thomas’s Write Rule modify - the ‘check for the write_item(X)

operation?

’_(h)/ How does strict timestamp ordering differ from basic timestamp ordering?
5/ Attempt any one part of the following: ' Tx1=7
(a) What do you mean by Shadow Pﬁgmg? Explain the various distributed locking
4

b

.

schemes? N
Discuss the issues to achiev@‘ﬁtnmicity in distributed transaction management
system. )

6., ‘A)ﬂfyt any one part of th_'e-..'ﬁi'llowing:, Tx1=7
(

a)<" Explain in brief the various query optimization techniques and write their

advantages and disadvantages. :

(b)  Analyze the condition of orphan message generation and discuss the ways to
avoid this condition.
Attempt any one part of the following: 7x1=7
(a) Compare join with semi join approach in distributed database system and

.@/

analyze the scenarios of preference. .
Compare the cager and lazy replication techniques and discuss the advantages
of each method
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